PelreHHe HENMOAHBIX KBAaJAPAaTHBIX YPaBHEHHH

1 eayuaii: ecau ¢=0, TO MOAYYUM \ / Npumep:
HETIOAHOEe KBaJpaTHOe ypaBHEeHHe PemnTh ypaBHeHHe: 2x%-9x =0
ax*+bx =0 Pemenne: x(2x-9)=0
Pewenue: ax? +bx=0 x=0mau2x-9=0
x(lax+b)=0 2x=9
Xx=0muam ax+b=0 x=4.5
ax=-b Omeem: 0; 4,5
=-b/a
Omeem: 0; -b/a

2 caywaii: ecau b = 0, To noayunm
HEIOAHOE KBajpaTHOE ypaBHEHHE
ax*+c¢c=0 5x?-45=0 m 3x*+7=0

PeliHTE YPABHEHHSA:

Pemenne: ax*+c=0

ax?=-c Peurenne:

x?*=-c/a. 5x2 = 45 aAx2=-7
BoamomxuEe! 2 cAyuasn: %2 =9 x2 = - 7/3<0
1) ecaun -c/a<0, To ypaBHeHHe He x=%+3 HEeT peleHus

HMeeT pelleHHit

2)ecan -cfa>0,T0 X=1% l?-:
Al a

Orper: £ 3 OTBer: HET pellleHns

3 cayqaii: ecaub=0m ¢ =0, TO
MMOAYHYHUM HETOAHOE KBajipaTHoe
ypaBHenue ax?=0
Peurenne: ax*=0
a#0 3mauur x?=0
x=0

PemiuTs YpaBHEeHHE!

13x2=0

PenieHHe:
K. 13#0, T0x*=0
x=0

OtBet: O

Oteet: 0
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